NMOHS L431 G39NIH
STaNVd WNALE

M3IA d3A0TdX3

Aoy

|
|
11

|
|

4

a
onon

6Mp'7LELL01)

OMQA TYNOILONYLSNI
NOILYOO0T ININOJWOD LHOHS 9 ININ3

ONVY ANV THATTO
N Iva

911€2 i

=

= =

E =]

B =

F gl |2

4 #1 1B

> HEE

= s

=] ZE] B BI2] 2
= = = b= E|lz| ~
= = E = = |2




Aoy

a
25

oNoAED

BMpZTLELL0L)

OMQA TYNOILONYLSNI

JuL

@
&
=
=
=3
17
2
2
3
Q
s}
=
3
I}
2
il
2
=
=
8
E
2
E

s "

0000

40 | 133HS 338

=]

SNOISIAY

o] e |




_ LET. _ REVISIONS _ DATE _ BY
SEE SHEET 1 OF 4
xf}
N
:
i
%
9% 03207 CLAMP, HOSE, LINED WORM DRIVE
94 1061712 DRAIN ASSY, COMPARTMENT
3 1058502100 | HOSE, 0.250" ID x 21.000", REINFORCED
92 14665 NUT, 1/4-20, HEX LOCK
91 23116 WASHER, FLAT, 0.281 1D x 0.625 0D
90 19288 SCREW, 1/4-20x 0.750, HEX HD
89 110580 DRAIN/ FILL ASSEMBLY
88 101873 NUT, 1/4-20, THIN HEX LOCK

(0)ee

19170 SCREW, 1/4-20 x 0,625, HEX HD

109008 BRACKET, MOUNTING, HIGH LIMIT

108995 HIGH LIMIT ASSY

1070591 BREATHER ASSY.

03204 CLAMP, HOSE, WORM DRIVE

1054693350 | HOSE,1.000" ID x 33.500", BLACK EPDM

e
.

G2efeoes) (e

085111100 | HOSE, 0.750"ID x 11.000", WHITE EPDM

1073121 CLAMP, HOSE, TENSION BAND

1058503600 | HOSE, 0.250" ID x 36.000", REINFORCED

108929 GAS LINE, PILOT

107312 CLAMP, HOSE, TENSION BAND

=3
S
e B B B B B B S SN D XN [ B B XY ) XY B N DN

085112100 | HOSE, 0.750" ID x 21.000", WHITE EPDM

ITEM ary PART NO. DESCRIPTION
CLEVELAND RANGE, LLC
1333 East 179th St., Cleveland, Ohio 44110-2574
TOLERANCES . %ma,%aowwﬁ.ﬂ . DRAWN BY DS DATE 01-07-04
T ™ GEMINI 6 SHORT COMPONENT LOCATION
- INSTRUCTIONAL DWG
ANGULAR SIZE DRAWING NO. SHEET 3 OF4 REV
. D 1107731_3.dwg F




EEEOEE

EEEE

eejece

91000,

L= ]

REVISIONS _ DATE _2

SEE SHEET 1OF 4

HOSE, SILICON

750", WHITE EPDM

GEARBOX, UPPER COMPARTMENT

ADHESIVE, SUPER BONDER

ADHESIVE, LOCKTITE, GREEN

SHAFT, KNOB / GEABOX, LOWER COMPARTMENT

SCREW, 8-32x 112, TORX /SLOT

CHAIN, RESTRAINT

SCREW, 10-32.x 0.500, TORX / SLOT

COVER, ELECTRIC BOX.

ELECTRIC BOX ASSEMBLY

TEE 34

NUT, 1/4-20, CAGE

BRACKET, ADAPTER, GEARBOX

BRACKET, GEARBOX, UPPER

085044200

1088202600

085043300

111,

107

03207

085112300

PARTHO. DESCRPTION

CLEVELAND RANGE, LLC
4

01-08-04

e

GEMINI 6 SHORT COMPONENT LOCATION

INSTRUCTIONAL DWG

B SHeET 4 O

D 107731_4.dwg

&l

F




Aseenoes [ 1 | 1 | 5 [ s08 TERMINAL SLIP-ON, 0062 X0.167, 22-IBAWG, PART. INSUL
e AN 2 | 2 | # [meim GROVNET, RUBBER
REF N IR BAFFLE, PILOT
REF N 2| 06841 PILOT ASSY, [P
REF AA soer | - | - | o |- ORFICE,LPGAS
AR | AR | @ o SEALANT, PIPE DOPE
IR WASHER, FLAT, /4 DX 0500 0D X 0065 THK
T 1 [ 6 |5 WASHER, LOCK, MEDIUN PATT 14 KATLINK STVLE, SST
N WU, 1420, HEX, 300 ST, FULLFINHED
2 | 2 | 1 | SCREW, PAHD, 1024 X 12,55
3 | 5 | 5 [nem SOREW, HEX WASHER HD, THO TYPEF 632 X 12.2N
RN RN SCREW, 1032 X 12, ORXPAN, THRD FORMING, 21
T 1 [ 6 |om FTG, CONP, 12T X 12.PT
RN ELBOW90° 34 X 12 BLACK REDUCING
1|1 [ 1 [1064S00 | WREASSY GREEN, 1 RING, TBARE 50000
SEENOTE 1 NERER RN GASLINE,PLLOT GENINI
T 1 [ o e CABLE, IGNITOR ASSY
T 8 |wma PILOT ASSY, AT GAS, GEVINI 6
A \seerorer | - -1 [ ORIFICE, NATURAL GAS
1 [ 6 e BRACKET, BURNER HOUNTING GENINI 6
REF 1[5 o CLANP, BURNER GEINI 6
T | 2 | ¢ |wem BURNER, INSHOT, 30000 BTU VERTICAL BOILER
1 [ 3 [ (GASKET, NANIFOLD VERTICAL BOLER
T 1 [ 2 o WANIFOLD, ASS'Y, WELDVENT, GAS BOLLER
RN BACK, BURNER ASSY, WELDVENT
e v [ o | mEn |pRTRO DESCRIPTION
o~ ~
D D
o o
[¥=] o
20) -1
2|
REF =
3=
BURNER BOX ASS'Y
SHOWING MANIFOLD ASS'Y & BURNER ALIGNMENT
ORIFICE CHART NATURAL GAS (REF)
ALTITUDE P/N: QTY DESCRIPTION HOLE SIZE
0-1999' 110939 2 ORIFICE, #39 DMS, VER GEN #39(0.100+0.001)
ORIFICE CHART LP GAS (REF
2000 - 2999' 110940 2 ORIFICE, #40 DMS, VER GEN #40(0.098+0.001) ( )
3000 - 4999" 110941 2 ORIFICE, #41 DMS, VER GEN #41(0.096£0.001) ALTITUDE PN: ary DESCRIPTION HOLE SIzE
5000 - 6999' 110942 2 ORIFICE, #42 DMS, VER GEN #42(0.094£0.001) 0-1999' 110953 2 ORIFICE, #53 DMS, VER GEN #53 (0.060+0.001)
7000 - 8999' 110943 2 ORIFICE, #43 DMS, VER GEN #43(0.089+0.001) 2000 - 7999 110954 2 ORIFICE, #54 DMS, VER GEN #54 (0.055+0.001)
9000 - 11000' 110944 2 ORIFICE, #44 DMS, VER GEN #44(0.0860.001) 8000 - 11000' 110955 2 ORIFICE, #55 DMS, VER GEN #55 (0.052+0.001)






